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Ol E K2 0t 829,834 709,680 120,154
= 153,112 194,720 241,608
S 51,622 56,944 N5,322
= 625,100 458,016 167,084
IO | =B 660,670 709,680 A49,010
= 153,112 194,720 A41,608
= 51,622 56,944 A5,322
= 455,936 458,016 22,080
HAS 2220 KNA(AZESIISAILSESH) 660,670 709,680 249,010
= 153,112 194,720 A41,608
< 51,622 56,944 AN5,322
= 455,936 458,016 22,080
2SS 02ACIAY 191,390 243,400 252,010
= 153,112 194,720 A41,608
= 30,622 38,944 A8,322
= 7,656 9,736 22,080
101 @ldd| 44,590 38,400 6,190
= 35,672 30,720 4,952
S 7,134 6,144 990
= 1,784 1,536 248
10 JIZH2E2NsEs 44,590 38,400 6,190
nezsoiaeles Z& 44,590,000& 44,590 38,400 6,190
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= 4,792 7,080 A2,288

N2 2 & 27,000,000 27,000 28,000 1,000

= 21,600 22,400 A800

< 4,320 4,480 A 160

T 1,080 1,120 A40

=250 21,000 18,000 3,000
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01 11,480 9,480 2,000

1) 7,600 6,600 1,000

Z& 2,000,000 2,000 1,000 1,000
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202 01t 8,520 7,520 1,000
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01 =UWoH 8,520 7,520 1,000
1)SI20I2 WCIOIBT MATAL L At A% 7,000,000 7,000 6,000 1,000
= 7,000 6,000 1,000
HRES(ZMS XD 169, 164 0 169, 164
SHNE(RESIITAASHSIH) 169, 164 0 169, 164
SHNE 169, 164 0 169, 164
802 BHE2|El 169, 164 0 169, 164
01 2NPFIEI 169, 164 0 169, 164
NOAZS A ALS &K 169, 164,000 169, 164 0 169,164




